ROGER ANTIO A. CARIÑO Engineer II

Contract ID

: 25FG0061

Contract Name

: Rehabilitation of Road with Drainage Canal : Manlangit St., Barangay Poblacion, Tigaon,

Location of the Contract

**Camarines Sur** 



Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS CAMARINES SUR 4TH DISTRICT ENGINEERING OFFICE Tigaon, Camarines Sur

### **CONTRACT AGREEMENT**

RUEL B. BONGULTO

As availability of Funds:

KNOW ALL MEN BY THESE PRESENTS:

This CONTRACT AGREEMENT, made this, 20th day of June 2025 by and between:

The GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES through the Department of Public Works and Highways (DPWH) represented herein by, **GEMMA B. TIMBANG**, duly authorized for this purpose, with main office address Office at Caraycayon, Tigaon, Camarines Sur, hereinafter referred to as the "PROCURING ENTITY";

-and-

LIMCORE CONSTRUCTION AND SUPPLY, a corporation organized and existing under and by virtue of laws of the Republic of the Philippines, with main office at Talojongon, Tigaon, Camarines Sur represented herein by SHENANA E. LIM, duly authorized for this purpose, hereinafter referred to as the "CONTRACTOR";

Authorized Makaging Officer

SHENA

CONTRACTOR

#### WITNESSETH:

WHEREAS, the PROCURING ENTITY is desirous that the CONTRACTOR executes the Works under: Rehabilitation of Road with Drainage Canal, Manlangit St., Barangay Poblacion, Tigaon, Camarines Sur, hereinafter called "the Works" to be completed within one hundred thirty-two (132) calendar days and the PROCURING ENTITY has accepted the Calculated Bid of the CONTRACTOR for the execution and completion of the Works at the calculated unit bid prices shown, or a total Contract price of **NINE MILLION FOUR HUNDRED THREE THOUSAND TWO HUNDRED** SEVENTY-FIVE PESOS AND 29/100 ONLY (Php 9,403,275.29).

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

GEMMA B. TIMBANG

DPWH-INFR-51-2016

Page 1 of 5

Contract ID

: 25FG0061

Contract Name

: Rehabilitation of Road with Drainage Canal : Manlangit St., Barangay Poblacion, Tigaon,

Location of the Contract

Camarines Sur

Item Number	Description	Quantity	Unit	Unit cost (P)	Total Amount (P)					
PART A	FACILITIES FOR THE ENGINEER									
A.1.1(7)	Provision of Combined Field Office and Laboratory Building for the Engineer (Rental Basis)	4.40	mo.	10,972.50	48,279.00					
A.1.2(4)	Provision of 4x2 Pick Up Type Service Vehicle for the Engineer on Bare Rental Basis	0.50	mo.	38,850.00	19,425.00					
PART B	OTHER GENERAL REQUIREMENTS									
B.5	Project Billboard/ Signboard	2.00	ea.	12,401.39	24,802.78					
B.7(1)	Occupational Safety & Health Program	3.47	mo.	38,510.23	133,630.50					
B.8(1)	Traffic Management	4.40	mo.	3,634.08	15,989.95					
В.9	Mobilization/ Demobilization	1,00	l.s.	35,168 <i>.7</i> 0	35,168.70					
B.12	Removal and Relocation of Utilities	1.00	l.s.	393,330.00	393,330.00					
PART C	EARTHWORK									
101(1)	Removal of Structures and Obstruction	1.00	l.s.	107,356.85	107,356.85					
102(2)	Surplus Common Excavation	1,905.61	cu.m.	179.26	341,599.65					
103(1)a	Structure Excavation (Common Soil)	702.58	cu.m.	326.30	229,251.85					
104(1)a	Embankment from Roadway/ Structure Excavation (Common Soil)	40.22	cu.m.	297.38	11,960.62					
105(1)a	Subgrade Preparation (Common Material)	1,526.74	sq.m.	19.62	29,954.64					
PART D	SUBBASE AND BASE COURSE									
206(1)	Polymer Stabilized Subbase/ Base/Surface Course	409,53	cu.m.	2,020.71	827,541.37					
PART E	SURFACE COURSES		<del></del>	· · · · · · · · · · · · · · · · · · ·						
311(1)b1	Portland Cement Concrete Pavement (Unreinforced, 0.20m thk.), 14 days	1,044.70	sq.m.	1,331.92	1,391,456.82					
PART F	BRIDGE CONSTRUCTION									
404(1)a	Reinforcing Steel, Grade 40	32,782.38	kg.	80.04	2,623,901.70					
405(1)a3	Structural Concrete, Class A (20.68 Mpa)	335.73	cu.m.	8,668.00	2,910,107.64					

Authorized Mahaging Officer

CONTRACTOR

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

BONGULTO

RUEL

lountant-Π

As availability of Funds:

: 25FG0061

Contract Name
Location of the Contract

: Rehabilitation of Road with Drainage Canal : Manlangit St., Barangay Poblacion, Tigaon,

**Camarines Sur** 

	SEVENTY-FIVE PESO	S AND 29/:	LOO ONLY							
TOTAL IN W	ORD NINE MILLION FOUR	HUNDRED	THREE TH	OUSAND TW	O HI	JNDRED				
TOTAL IN FI	(GURE		GRAN	D TOTAL	p	9,403,275.29				
505(2)a	Grouted Riprap (Class A)	79.51	cu.m.	3,162.79		251,473.43				
PART L-C	DRAINAGE AND SLOPE PROTECTION									
405(2)d	Structural Concrete, Class B (16.50 Mpa)	1.26	cu.m.	6,384.75		8,044.79				

## **NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:**

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the S2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
  - a. Philippine Bidding Documents (PBDs);
    - i. Drawings/Plans;
    - ii. Specifications;
    - iii. Bill of Quantities;
    - iv. General and Special Conditions of Contract;
    - v. Supplemental or Bid Bulletins, if any;
  - b. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/ or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.

CONTRACTOR
SHENANTE, LIM
Authorized Managing Officer

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

GEMMA B. TAMBANG District Engineer

Contract ID

: 25FG0061

Contract Name

: Rehabilitation of Road with Drainage Canal : Manlangit St., Barangay Poblacion, Tigaon,

Location of the Contract

**Camarines Sur** 

- 3. In consideration of the payments to be made by the PROCURING ENTITY to the CONTRACTOR as hereinafter mentioned, the CONTRACTOR hereby covenants with the PROCURING ENTITY to execute and complete the Works and remedy any defects therein in conformity with the provisions of this CONTRACT AGREEMENT in all respects.
- 4. The Department of Public Works and Highways (DPWH), Camarines Sur 4th District Engineering Office agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

**IN WITNESS WHEREOF**, the parties hereto set their respective hands on the day, month and year first above written.

PROCURING ENTITY:

**CONTRACTOR:** 

Represented by:

Represented by:

GEMMA B. TIMBANG
District Enviroger

SHENANT E. LIM
Authorized Managing Officer

Witnessed by:

ROGER ANTIO A. CARIÑO

Enginéer II

RUEL B. BONGULTO

Accountant III

DPWH-INFR-51-2016 Page 4 of 5

Contract ID

: 25FG0061 Contract Name

: Rehabilitation of Road with Drainage Canal Location of the Contract : Manlangit St., Barangay Poblacion, Tigaon,

**Camarines Sur** 

REPUBLIC OF THE PHILIPPINES PROVINCE OF CAMARINES SUR) S.S. MUNICIPALITY OF TIGAON

#### **ACKNOWLEDGEMENT**

BEFORE ME, as the Notary Public for and within the Municipality of Tigaon, Camarines Sur, personally appeared **GEMMA B. TIMBANG, District Engineer**, representing the REPUBLIC OF THE PHILIPPINES (Department of Public Works and Highways), with Resident Certificate Number 08459225 issued on January 14, 2025 at MTO-Bato, Camarines Sur, SHENANA E. LIM Residence Certificate Number 02458530 issued on Jan 10, xx at Tiggon, cam. Sur known to me to be the same persons who executed the foregoing CONTRACT and AGREEMENT and they acknowledge to me that the same is their true act and deed for and in behalf of the parties they represented.

This instrument consists of five (5) pages, including this page, on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other page.

IN WITNESS WHEREOF, I have hereunto affixed my signature and Official Seal this

JUN 2 0 2025

ATTY, RYAN JUDE/O.

Noten/Public Roll No 2023-20. Virus Public Roll No 2023-32, granted 12/18/2023
IBP OR No. 502023, \$1/08/2025, Camarines Sur PTR No. 7494592, \$1/08/2025, Camarines Sur MCLE Compliance No. VIII-0013426, 09/06/2024 thru 64/14/2026 Until 12/31/2025

Doc. No.

Page No.

Book No.

Series of 2025

B'\BONGULTO Accbuntant-III

As availability of Funds:

Authorized Mar SHENA

CONTRACTOR

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

DPWH-INFR-51-2016

Page 5 of 5